Module Name : Chemistry
Exam Date : 14-Feb-2022 Batch : 14:00-17:00

Sr. No. Question Body and Alternatives

Bond angle in water molecule is 104.5° instead of 109° 28' because of :
BT enevsga mleor LlemevorLiL] G&ITeoord 109° 28' —&& LIS LIS 104.5° 9485 2 66!, 67 G 60160116V

A : Lone pair, bond pair repulsion
seoflg s G, LlemewrLiL| Gemig er&lyiiLy

B : Bond pair, lone pair repulsion
LNemevor L] GRIMY, SeoflSs CQMlq 6rH UL
C : Lone pair, lone pair repulsion — (Correct Alternative)
seofl5s CRMIY, HeflSs G TS UL
D : Bond pair, Bond pair repulsion
LNemevor LI G2rlq., LemevoriiL| G2rriq erSyLiL]
Which one of the following ion is smallest in size ?

GLpsevorLeummieT Wlss Fndlul 9 uleof] ergl ?

A N3




-

D : Na' — (Correct Alternative)
Na*

Bond order of H} ionis:

Hy Sueoilinedr (NemeooriiL| exiflené &I -

A +1
+1

=

P | =

— (Correct Alternative)

+
Pt | =

C: Zero
Zero
D:2
2
Compare the boiling points of CHy, H,O, NH3 and HF.
CHy4, H,0, NH; Lo miLh HF 60T Q& TH Blenevemn L iLll(h) QF U :

A : CH4 <NHj3 <HF <H,0 — (Correct Alternative)
CH4 <NH; <HF <H,O

B : HF > H,O > CHy > NHj;
HF > H,O > CHy4 > NHj3

C: H,O <HF > CH4 > NHj;




H,O < HF > CH, > NH;
D: CH4<HF<NH3<H20
CH,4 < HF < NH; < H,0

Arrange the following ions in the increasing order of ionic radius. 02', F, Mg2+, Ca2"

LN esreu b o wlenfl&erfleor 9jwlenll QLIHems QUTHS S gml auiflenaFLiL(h &S5
02-, F, Mg2+, CaZ+

A Ca2t < Mgt <0 <F°
Ca2* < Mg2* < 0% < F-
B: Mg?" < Ca?" < F- <02 — (Correct Alternative)
Mg2* < Ca2* < F- < 0%
C: Mg?* < F < Ca2* < 0%
Mg < F- < Ca?* < 0%
D: Ca?* <0 <F <Mg?’
Ca?* < 0% < F- < Mg2"

If one electron removed from the HOMO of oxygen molecule, C)E“ is obtained, then :

(HENOIN6T  cpeLSTamiel HOMO 60 EWhHh& €  ET60SHL[JTeneT
BEGLCUTEH OF 2 (HeuTHME| SIGH6ITED :

A : The bond order decreases and bond length increases

LY emeoor 1L 6T600T GemM B MS! LlemeoorLiL] HeTd HH & lEH M
B : Both bond order and bond length increases

LYemevor 1L eTevor LDMHMILD LemevorLiL Hermd @ pevor(hld H&flEH e
C : Both bond order and bond length decreases




LY emevor LIL| 6T6vor LOMMILD LYemevorLiL| Bermh @ evor(hLD Gemm B m S
D : The bond order increases and bond length decreases — (Correct Alternative)

LYemevor 1L eTevor P& lEHRmS! LlemevorLiL] HeTd Gemm&Bms!
Ionisation [somerism among the following is :

L9 60T6U (H 6 60TEU M MIGT 6T&I & Uleof] LDmmMlulLD 2

A [Co(NH;3)sNO,]*2 & [Co(NH;3)sONO] ™
[Co(NH;3)sNO, ™ Lo mild [Co(NH3)sONO] ™

B : [Co(NH3)sBr]SO, & [Co(NH3)sSO,]Br — (Correct Alternative)
[Co(NH3)5Br]SO4 LDMMILD [Co(NH3)5SO4]Br

C: [Co(NH3)6][Cr(CN)g] & [Cr(NH3)][Co(CN)¢]

[Co(NH3)6][Cr(CN)g] DMMILD [Cr(NH;3)4][Co(CN)g]
D : [Pt(NH;)4][Pt Clg] & [Pt(NH;)4Cl,][Pt Cly]

[Pt(NH3),][Pt Clg] LOMQILD [P{(NH3)4CL][Pt Cly]

The ligand used for the estimation of Nickel in gravimetric analysis is.
eTemLwm LiGLiLmielley Bl&HH60 2 Ceumssemns emalll LileTU(LD Freofl :

A : DMG — (Correct Alternative)
DMG

B: EDTA
EDTA

C: Oxine
2, 8560)610 60T

D : Ammine
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9| LO60T

Square planar complexes of the type [Ma,b,]™, where a and b are ?

FHEMFSIT 3]6M600T6YF GFITLOLD [Mayby]™, UF6V a LDMHMILD b TEOTLIS) :

A : Bidentate ligands
rF[f 6oy 600T W FF 601
B : Tridentate ligands

eLn el emeoor Wi FF 60
C : Flexidentate ligands

Nergserdl mreofl
D : Monodentate ligands — (Correct Alternative)
ea1fl6vof W FF60f]

Cobalt exists in two oxidation states, Co(II) and Co(III), of these Co(III) is unstable in;
GamUMeLL @ Fevor(h) & en0l2Ceormm mlemevasertley 2 aTemgl, Co(Il) LnMMILD Co(IIl), @& 6V Co(Ill)
6THS 26TL_55 )6V BHlemeuUlMHMS! ?

A : Alcoholic medium
QLEVEHAMITELD 26T & 1N

B : aqueous medium — (Correct Alternative)
S|&al6n L1q UL

C : Ammoniacal solution
I LDCLOMerflWITE 6V &56m &6V

D : Neutral medium

B(HBlen6v 26L& LD

Cis - trans isomerism occurs in :
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Q@ L&HS — I0MILIGS THMUSS em60r QUMMIIBLILIS :

A : Octahedral and square planar — (Correct Alternative)
6TE0OT(LN &R LDMMILD &I SeTLD

B : Trigonal planar and Octahedral
(P& G SITeooT &HEITLD LoMMILD 6T6voT(LN SR

C : Square planar and Linear

FSIT ST IMMID CHIFESHT(H)
D : Trigonal bipyramidal and Octahedral

W&ECsmevor @ @UITL®H LDMMILD eTevor(LN S
Among the following the complex which can exhibit optical isomerism is ?
L edTeu (LD emetore & G& [ Lnmiserfley sperflufluiey nmmaluib &TL(Bleus :
A : Cis - [Pt Cl, (NH3),]
Cis - [Pt Cl, (NH3),]
B : [PtCl3(C,HY)I®
[PtCI3(CoHy)]®
C: Trans - [Co(en),Cl,]"
Trans - [Co(en),Cl,]"

D : [Co(EDTA)]® — (Correct Alternative)
[Co(EDTA)]®

The order of relative stabilities of various cations are :

G ILlleor 9 uwleoflaserfler eLiL| Blemevs & eTemin aliflens :
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A+ 1 1 |
CHg > CH3CH, > (CHg),CH > (CHj)3

I [ 1 l
CHg > CH3CHy > (CH3)oCH > (CH3) 5

B: + + it +
CH3CHy > CH3 > [CH3)3C > (CHa),C

+ + f 1
CH:}CHE > CH3 > ‘CHSJEC > :CHa]QCH

C: 1 i q +
(CH3),CH > CH3CHy > CHg > (CH3)sC

+4 } i |
(CH3)oCH > CH3CHg > CHg > [CHa)sC

D: + + + i

" (CHg)3C > (CHa)oCH > CHaCH, > CH:
(CHg3)3C > (CHa)a a2 3 — (Correct Alternative)

" e + 4
(CH3)3C > (CHg)CH> CH3CH, > CHj

H O
D@ | 160°
CHE— N —{CHslg — X+ {CHs]g—NOH
+
Identify ‘X'
- o
QQ | 160°
CHE'—' N— {CHEJE — s X+ {CHSJE_ NOH
+

X—60ILS HEGoTL_ N

b O
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CHsy

CHj

CHj

alste

CHj,

CHj

CH,
— (Correct Alternative)

CH,

YEYYY

Sn 1 reaction is greatly accelerated by :

Sy1 ellemerremwl SIFflSLILMGGSID &ITTeoor] :

A : Increase in polarity of the solvent — (Correct Alternative)
FHenJLILITeo 60T 2 F) 8 (LNEDIGITE & &560T60)L0
B : Neutral Solvent
BH) Bl606V 55607 LI LIM60TSS 61T
C : Non - polar solvent
(LDEDGOTEY S H60T6MLD MM &60)J LILIM6OTE 6T
D : Decrease in polarity of the solvent
FHenJLILITEo 60T GH6MMIBS (LNEMEOTEUE &60T60ILN

The reaction rate of any reaction depends on :
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@ allemeot Ul 6o element Geauss&ems BlFeorWlLILI

A : Thermal energy of transition state
QeuLlL SL,MMeV
B : Enthalpy of a reaction
6T60TS & Meu LIl
C : Entropy of a reaction
RPMISEDHDS 5601600
D : Activation energy of the transition state — (Correct Alternative)
Feria|mid MMV
Molecularity and Rate of Sy1 reactions are :

Sn1 ellemeot euLlue6oT eLP6V & Fa midlLLI6L LOMMILD GeUdsLD :

A : Unimolecular, First order — (Correct Alternative)
R0 CLHEVE: T MIGIULIEY, (PG 6V LILG
B : Bimolecular, Second order
T 60 eLN6V & T MIGIIUIGD, @) [J600TLITLD LIl
C : Unimolecular, Second order
QR CLN6VE Fo MG ULIGD, @) [JE00TLITLD LI
D : Bimolecular, First order
F eI eLN6VE Fo MIeT L6V, (LDGH6V LILg
One of the modern method of studying "free radical" is :

&eofl 2_miliemLl (Free Radical) Limmlwl mefeor nemnmuilev uUlie] QFUIL 2 G566l :

A : IR spectra
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IR — BIMLOMEm 6V
B : UV spectra

UV — BIMLOTen6v
C : CIDNP — (Correct Alternative)
CIDNP

D : Microwave spectra

MW&HCTMTGeus) BIMLOMTEm6Y

The velocity of electron in a hydrogen atom in its ground state is 2.2 x 10° ms!. The de broglie wavelength of this
electron.

FemFeumm Blemevullev H — 2 smmiefl 60T 6TeL& L[ Teufledr Hem&FCoussLn 2.2x10° ms™!. @b
eTeu& L ymeoflett 1 LNpm&edl ojemevBerin.

A : 0.33 nm — (Correct Alternative)
0.33 nm
B: 23.30 nm
23.30 nm
C:45.60 nm
45.60 nm
D:3.33 nm
3.33 nm

Which of the following Bohr's theory explanation is correct ?
etreu@ld GUTT CamLumbaeflev Frflwmers ersi 2

A : The spectrum of Hydrogen atom only
DAL [JE60T {600 [BIMLOMEn6V DL (HILD

B : The spectrum of Hydrogen atom or ions containing one electron only — (Correct Alternative)
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&(H 6TELEL_TITEM 60T G\ LIMMIGTET 60EUDL_[TE260T {6001 3{6V6VF MG 6255 3] WLI6oT| & 6rfleor
B (DLOIT60)Y6V

C : The spectrum of Hydrogen molecule
A L_[J60T eLN6VE T MI60T [HIMLOTEM 6V
D : The solar spectrum

G flw mlmnmemnev

At what wavelength does the maximum in the energy - density distribution function for a black body occur if T = 3000
K?

T =3000 K -94,5 @ (H&GLDCLTSI 6THS 6mevibernsHev e &(HLD GQLITIHEHESHTET 2LMHM6V —
IILISH) LITeU6 &TFeol] 2 && oaTallev @) (HHEGLD ?

A:33x107m
3.3x1077 IS
B:2.7x107 m
2.7x10°7 LS L[y
C:967x107 m - (Correct Alternative)
9.67x1077 LSL_LIJ
D:967x1010m
9.67x10710 1S LJ

The electrons are emitted from a metal surface illuminated by the ultraviolet radiation is :
LIMoeTS e &EH &M 6TE Q& mevor(h sperflemwlll LUMEs&HIDEUNS 2 Geumd GumuirLiLilev
@ (BHS 6TELEL_TMeTH 66T 2 LAl 616m60TEH S !

A : Photoelectric effect — (Correct Alternative)
ep6rf] LAleoT eXllemerTey
B : Photosynthesis
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Q6T FCFT&Hm &
C : Phosphorescence
BleorQmmerfligev
D : Photolysis
a6l Geud) allemeor

is called de Broglie relationship.

——FweruUm® 1© NpnesGer QSTLJem L GMISH M.

— (Correct Alternative)

Operators have the property to yield real eigen values are called :
@UIEVL] 8560 LDHLIL|SHEM6T &([HLD G869 & em6m SLpE & 600TLeUmml &mILILINL6VITID :

A : Eigen function
05607 FTIL

B : Hamiltonian operator
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ammileuGLmeofluer Q& uled

C : Hermitian operator — (Correct Alternative)
QanTiF weT Q&Fwed

D : Orthogonal
U TCHTEHITETITEL

Gibbs - Duhem equation is :
&6 — (el &6t LM :

: n
VdP — SdT = 3 nidy
K= — (Correct Alternative)
n

VdP — 5dT = E n,-dg.ui
=1

o oy 3\
B: V=ﬁi[f—v
\ OTY;
5 o
V=ﬁi[f—v
1C?rli__
C:V=f(T,P,n)
V =£(T, P, n)
D: s
L
s
\cﬁi;PlT
s i
[C:_J =N
N Jp 1

A convenient form of the Sackur - Tetrode equation 1is :
FMHET — QL CrHheler QUTSIeUTeT FeTUm@) :
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D:
S, = NkT

ISZNk

S=Nk

:S=A,N,

S=A,N,

#

"3 R{—1.151 + g InA, — In%o+%ln%}

— (Correct Alternative)

¥

\

S — (1151 + 2 o, - gl )
|8

f N
lniJT

Cy

e kY
5, = NlelniJT
. Yy

The equation for standard Gibbs free energy :
GLD 2 eiTemeummI6T SHL16n FneTUm() :

A : AG=Vdp - SdT — (Correct Alternative)

AG = Vdp — SdT

: AG, = SdT

AG, = SdT

N

AG =S V.AG;

i=1

N o

i=1

: N
AG = T VAG®

i=1
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]
AG = Y VAG®

i=1
Variation with temperature of the molar heat capacity at constant volume of a monoatomic solid shows :

T eemenm i sooieileor LDMM6S S60T 266 215 60T GleULILIBlemev LDMMHMEH STV gFMLI(HILD
GLMeVTT GleULILI &60T6m LN UITEOTSI.

A : Changes the phases
G60Te0IL0 [Blem 6V LD MmILD
B : Linear
GFIme 2_6Tengl
C : Cannot determine
SIMW @uievrsl
D : No phase changes over the temperature upto stock — (Correct Alternative)
500K 6U6MT |G 60T H60TemL0 [Hl606v LDMM TSI
At equilibrium and at constant temperature and pressure :

GeuH FLnBlemeuUIel QeULILILD, S(L& S (OLD IDITMITLO6Y, LDMMleSWTs: @ HeEGIEUTS

A dG #0, pi(a) = w(B)
dG # 0, pi(e) = pi(P)

B : dG =0, p;(0)) = w(B) — (Correct Alternative)
dG =0, pi(a) = (B)

C:dG=0, p(a) # wi(B)
dG =0, p;(a) # pi(B)

D: dG #0, () # w(B)
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dG # 0, pi(a) # pi(B)

If a system A is in equilibrium with B and B is in thermal equilibrium with C, then A and C are in equilibrium with
each other. This 1s a statement of :

A 6T60TM {6MLDLIL| B 6T60TM 3{6mLDLIL|L 60T FLoBlemevuilev @) (H& @G LELIMEI, B 6T60TM j6mLoLiL], C
6T6OTMD | 6MLOLIL|L 60T QleuLllLl FLBlenevuiley @IBHS TV A LDMHMID C L& @)([H {6MLDLIL|SHEHLD
SHIGEHSHG6T Qe Foplemevuiley @HESGLD. @)HS oM

A : First law of Thermodynamics
QeullLl @uwis e uweder (L& 6w allG)
B : Second law of Thermodynamics
QeullL @uissedlwieder @) JevorLTld &)
C : Fourth law of Thermodynamics
Qeulil @uissaluledlesr Hmeorss T el )
D : Zeroth law of Thermodynamics — (Correct Alternative)

Qeulil @uissedluwledler Lyl alS)
Calculate AE for the below reaction.
B+ Ho'ZCH30He
Slpangmih ellsnsniiled AE H66oI_Mlé.

B+ H-'2Co30He

A1 -2.01x10'8 kcal/mole — (Correct Alternative)
—2.01x10!® kcal/mole

B _20.1x10'8 keal/mole
—20.1x10'8 keal/mole
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C: -201.0x10!8 kcal/mole
—201.0x10'8 kcal/mole
D -2010x10!® kcal/mole
—2010x10!8 kcal/mole

Nuclides of mass numbers show a special feature.

|65 [Bl60IN 6T600TSH6T 2_6m LUl 2 L & ([H 6UNF 6T FIMLIL] GUI6VL|SH6IT
@ & IT600T 606U W TS LD.

A:l11,17,27
11, 17,27
B: 09, 13, 17 — (Correct Alternative)
09, 13,17
C:19,23,21
19, 23, 21
D: 09,03, 19
09, 03, 19
In India, the fissile material occurs in plenty.
G L5600 LM mI6T @ HHWmele) H e 3j6aTalle) HemL &G0 2(eaIl1L6Te M & Fa U G LITIH6T
—— GSLD.
A : Thorium — (Correct Alternative)
Gamiflwin
B : Uranium
W GreofluuLd
C : Plutonium

Lj@eBL_GLmeoflulLd




D : Astatine
S{6MVL_T60)L_60T
a - particles are ejected from atomic nuclei with a velocity in the order of of light velocity.

9600155 (HNN (BB o - H&H6TEH6T GeuaflGULMmILD HengCeusLnmersl 6pedludleor
FlenFGalHEH L ——

A : 5% — (Correct Alternative)
5%
B: 6%
6%
C: 7%
7%
D: 8%
8%
The empirical relationship between the range and energy of a - particles is
o - SIH6ETEHET 6T 6f&F& LMMILD MMELEHEBHEHE Q)60 G WIT6oT aﬁ]@g)rracacm;r Q&TLIL —
AGLD

A

3
Range =0.31 SE/L — (Correct Alternative)

6F&H =0.318E "

: 3
B: Range = G.368E/3
: 3
)& = 0.348 E/2

C: 3/
Range = 0.379E/2
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, 3
& & = 0.379 E/3
. 3
D: Range = G.S%E/-?
: 3
&g = 0.394F/2

is an example for a control rod in nuclear reactor to control nuclear fission reaction.

— eTETLIS I 2 ameuUiley smiliLlemey eflemerTemnwls SLQLILGSSID GFF&HGS (b
®_SITI600T LOMEGLD
A : Graphite rod

FrmemULl G55
B : Boron rod

GUITTTeT G& &
C : Germanium rod — (Correct Alternative)

Qrwmellwd &&F
D : Aluminium rod

Ssvdleoflwid &&F
The element used in nuclear reactor is :

9600158 (H 2_606v W6y LTRSS SHeoflnld

A 235
235,

B : 236y
236y

C: 12¢
12¢
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D : 13¢ — (Correct Alternative)
13¢
When aqueous ammonia is added to a solution of Cobalt dichloride, for which composition turns pink ?
G&HITUMEVL. 0L GCeTmen T () SHenTFedilev BIsHs Emeilwm CFIHGLAUTWS 6THS
Fa QLI QUITeT Lhig Blm&SHev LDmmin?
A : CoCl;z . 6NH;
CoClz . 6NH;3
B : CoCl; . 5NHj3 . H,O — (Correct Alternative)
CoCls . 5NH3 . H,O
C: CoCly . 5NH;
CoCly . 5NHj3
D : CoCl; . 4NHj3 . 2H,O
CoCls . 4NHj3 . 2H,0

How many bands are obtained for IrBrC»,:_ complex in charge transfer spectra 2
iiBrZ~ GafngSler hlsigenn ufliommm HmTeneoNTed 6168 sn60T

SEMEVHHMENMSBET HlenL_ &HEHIGITMeuT 2

A : 2 — (Correct Alternative)

02
2
B:3
3
C:1
1
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6 - co-ordinated complexes possess distorted octahedral structure due to :
6 - 6M6E0oTeY QEFWIWLILL L GFFLOMIGET H(HSHSLILIL L 6TevoT(LNE aUlgalGemnS L QUM
SITJ600TLOIT60T 6l6merTa

A : Jahn-Teller effect — (Correct Alternative)
6T — QL_6V6VIT Bl6m6ITeY
B : Crystal Field effect
LI &LIL6V elemerTey
C : Nephelauxetic effect
QBLIeTTE LS allemere]
D : Paramagnetic effect
LMD M&&THS 6dlemere
The molar magnetic susceptibility value of NH3 (g) is
NH; (g) —60T GLOMEVITH &SNS FO &9 L1659 DS LIL| eTedT60T ?

A — 18 x 10° cm3 mol™! — (Correct Alternative)
— 18 x 10 cm? mol™!

B:—81x10°cm3 mol™!
— 81 x 10° cm? mol™!

C:+18x 10% cm3 mol™!
+18 x 10 cm? mol™!

D: +81x 10% cm? mol™!

+81x 10 cm? mol™!




In IR C-O stretching frequency of metal carbonyl is in the order of :
IR BIMOTeneLUI6L 2 Geumsh SITFELIMemeTeL&6flev 2 6T C-0 BLL6L H TG alevor HGL

QBTH&ESLILIL(H6TeT 6THS auflensuilev 2 _6Teng! ?
At [Ti(Co)g] 2~ > [V(Co)] ~>[Cr(Co) ¢] ~> [Mn(Co) ¢]*
[Ti(Co)Sub>6]2~ > [V(C0)] ~> [Cr(Co) ¢] ~ > [Mn(Co) ¢]*
B : [Mn(Co) 6] > [Cr(Co) 6] > [V(Co) ¢ > [Ti(Co)g] 2=_ (Correct Alternative)
[Mn(Co)g]" > [Cr(Co) 6] > [V(Co) ¢~ > [Ti(Co)g] *~
C: [Ti(Co)g] 2~ > [Mn(Co) ¢] > [V(Co)g] ~ > [Cr(Co)¢]
[Ti(Co)]*~ > [Mn(Co) 6] © > [V(Co)g] ~ > [Cr(Co)s]
D [Ti(Co)g] #~> [V(Co) 6] ~> [Cr(Co)g] > [Mn(Co) 6]
[Ti(Co)e]*~ > [V(Co) ¢] > [Cr(Co)g] > [Mn(Co) ¢] *
At Curie temperature, the ferromagnetic material become :

&W,ifl QeuliLplemevuilev, KQUITGTT &MTHSLICLITIHET LDMMIe S,

A : Antiferromagnetic

THT QUICTIT &MTHS QUITIHETTS
B : Paramagnetic — (Correct Alternative)

LTI T&TIHS SH60T60)LD 2_6T6T QLIT(HETTS
C : Diamagnetic

LWMTSTHS &H60TemLn 2 _6T6eT QUITIH6TTS
D : Does not change with respect to temperature

QeULILISH 6TV LDIMMHMLD 3{6mLWITS
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An electron source in the aromatic electrophilic substitution reaction is :

CIMGLOL LY & 6TeV&HL_TMedT S6eUlf LSS (H edlemreoruilev 6TeLEL_[J 60T eLNEVLD 6T6OTLIS

A : an electrophile
6TELEL_ITIT60T S6UIT & TIevof]
B : a catalyst
6l 6 60T W, & &)
C : an intermediate
allemeot @) 6mL[Blem VLl GILIMIHEIT
D : an aromatic system — (Correct Alternative)
SICITGLOLLY S emLOLIL
Benzene diazonium chloride reacts with phenol to form :

QLIETF 6T et LW GF Meoflwl LD &HCemmemn () LisormeviLeor elemeor L flH & 2_(Heumd @G eUs ?

A : p - chlorophenol
p— &CemmGrmLisormev
B : chlorobenzene
& CermmGr TG LI 6oT & 60T
C : p - hydroxyazo benzene — (Correct Alternative)
p— ML TMHE 9CF TG 60T T 60T
D : DDT
DDT

A base which favours the formation of an aryne intermediate from a simple haloarene is :

eTerflll ammGeum 3 Feufledl (BB S 36mT6sT @emLBlen6vLl] QUITIHemETL QLIM 2_&a|lh SHITFLD :

A
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NH;
NH;

B: ©
OH

=
OH
C: NH
2 _(Correct Alternative)

=

NH,
D: C5H5N
CsHsN

Which of the following statement is true ?

FBLDG600TL. S MMIG6IT6V 6T & Ifl Wm0t S 2

A : Naphthalene is more aromatic than anthracene
BTL1856560T, 9L TFemer el 25 & CTMGLOL19.8 &H60Te0LD G1&TevoTL Sl

B : Anthracene is more aromatic than naphthalene — (Correct Alternative)
U H&TEF 60T, BTG 65eme el 2FH& CTMTGOL 198 F60T6mL0 G&M600TL S

C : Naphthalene is aromatic and anthracene is anti aromatic
BTLIS6560T HCTTGLOL 198 SH60Temln Q1&MeooTL &l LDMMILD 4HESTF 6T 60Tl CTMELOL 9.8
&60T60LN G G\ & ITE00T LS

D : Naphthalene is aromatic and anthracene is non aromatic
BTL1856560T CTTELOL 198 H6TenID Q& MeoorL Sl LDMMILD 3H&TF6T HTeoT—CrmGLL 9.8
&H60T60L0 G\ & T600TL_S

Which among the following is meta directing group ?

GLDG600TLUMMIET 6TH QL LT eUbIBLESID QF TGS ?
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A : OH
OH
B : NH,
NH,
C : NO, — (Correct Alternative)
NO,
D:F
F

In elimination - addition mechanism, the intermediate formed 1s :
Basallener — gul () ellemer allenerauldwnemnmuiler @enl_Blenevsd CFFLOLD

A : Benzyl radical
QILIGITEM &6V 60l 2 MILIL |
B : Benzyl cation
QuUeTenF6L GBI LAl6oT 2 uleof]
C : Benzyne — (Correct Alternative)
G LI 60T60) & 60T
D : Benzyl anion

QLIGTEM &6V 6TH) [T LOI60T 2 U 60T

Carbonyl compounds react with to form alcohols.
SITILIeM60T6V GFJLOMIGET —— 2 L 60T ellemeor L flu]LDBLMTS! 24,6085 M M6V & 6T
&) 600 L8> 55 60T M 60T
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LiAlHy
B : NaBHy
NaBH,4
C : Both LiAlH4 and NaBH, — (Correct Alternative)
LiAlH, LDMMILD NaBH,
D: Hy,O
H>0

Benzene is formed by the overlap of which hybridised orbitals ?
6TH& @) 60TE&H6VLIL] QLTI Lmeu&seT CLMOUM[HESHEH 6V G LICTenF 6T 2_(heUuTH MG ?

A:sp
Sp
B : gp? — (Correct Alternative)

Sp2

C: Sp3

Sp3

D: dsp2

dsp?

In the third order reaction, the number of molecules involved in rate determing step is :
epeaTmmbLILg ellemestuilev alemeot ulledr Ceud g emss mlyeoor ulld @b L uilev FEHU@ILD
ELN 6V & B M) 5 6111 60T 6T600T6001 18560 55
A : One
660!
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B : Four
16 T60T (S
C: Zero
LLUWILD
D : Three — (Correct Alternative)
RLPEOT))
In the Hammett equation, ¢ represents :
GamLoL. FLO6OTLITL 196V ¢ 6T60T L& GMILILISI :

A : Substitution constant
QTGS Ulledr LisvorL| LOmnled)
B : Order of the reaction — (Correct Alternative)
aflemeor USl6oT LILY.
C : Reaction constant
allemeorulleor Lomdled)
D : Kinetic energy
QUWES 2,MMe6V
As per the Hammett equation, the electron donating group is :
GamLoL FLOGOTLITL LQ60TLILG, 6TEVE LTS 06T Q& T(H&HEHHTn QU QHTESS :

A : Br
Br
B: CN
CN
C: CF;




CF3
D : OH — (Correct Alternative)
OH

When k,, >> [S], the Michaelis - Menten equation is :
ky, >> [S] QL& @ (HEHGSWEUMSI L8 G855 65160 — GILD6OTL_60T &LO60TLIM(H) 6T60TLISI.

A r=X[S] - (Correct Alternative)

r=Kk[S]
B:r=V,.[S]
1= Vax[S]
€ 1= kin 5]
= km[S]
D: r: h
N
m

=

E
The frequency factor in the collision theory is :
GLOMFH 6V Q& MeiTem & UIN60TLILY. 25\ [T G 61 6T0T 55T IT600T | WLITEOTS :

A : independent of temperature

QeuLliLpBlemevemnl QUITHS S S|6mLOW TS

B : directly proportional to temperature

QeuLiL BlemeulmeTsl GBS &S H 6L @) (H& G LD
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C : inversely proportional to temperature

QeuliLplemevwlmersl eTH T &G &HE5H 60 @) [HE LD

D : square root of temperature — (Correct Alternative)
QeuLILIBl6m6vUI60T QU8 & eLNEVLD 3G LD

With an increased in temperature of the reactants from 295°C to 305°C the molecular velocities increase by about 2%
and hence the collision between molecules would be increases by :

aflemeor LI QLT[R 66T Qe LILILDMeTsl 295°C eSl@HH S 305°C @L5 2 WIS SHINGCUTSI
LN 6V & T MI S 61T 60T e &F GeUBLD 2% 3,5 2 WFTRMS, 6T60TG6) CLN6V S B MG EH S G @) 60 Gl
GLOITE 6V 86T o WFHeTMS :

A : 2% — (Correct Alternative)
2%
B: 1%
1%
C:3%
3%
D : 4%
4%
The most Vibrational transition occur in case of alcohols (-OH) group in IR spectroscopy.
IR BIMWOTemeLUN6L 34605 ammeVE6Tl6T (-OH) QST S 55 M6T SH&HLLEF AT T
LTHMESHMETeT LDSHLIL :

A 4000 - 400 cm™! - (Correct Alternative)
4000 - 400 cm™!

B 1900 - 400 cm™!
900 - 400 cm!
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C: 5000 - 4000 cm’!
5000 - 4000 cm!

D:400-100 cm™!
400 - 100 cm!

Which of the following shift leads to the decreased intensity of absorption ?
LY edTeu (Heu6oTeU M MIET 678 L T5 S &H6mmMeUTer 2 Ml ©eh&&Hemevd Q&ETHI&EHR M ?

A : Hypochromic shift — (Correct Alternative)
anLICUT GGImLil& HaTe6Y
B : Hyperchromic shift
emamIUT &GCrmils B&Ie
C : Bathochromic shift
CUSCHT GCIMLIE B&HT6
D : Hypsochromic shift
anlIGFT GCTMLAE BET6
Which of the nuclei listed below shows more peak splitting in ESR ?
GCLo UL IQWeSLLILIL (heTeT & ([H&&6il6v 675 ESR —6L 35 & Lil6Teysemens &IOS mS! ?

A 5TRe

C: 55Mn — (Correct Alternative)

SSMD
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D: 14N
14N
What is the correct order of A, for n - * transition ?

678l Flume n - 6* LN M TET Ay, —60T aUflend & LoD ?

A : ROH >RNH, > RSH
ROH > RNH, > RSH
B : ROH <R - NH, < R-SH — (Correct Alternative)
ROH <R - NH, <R-SH
C : ROH > RSH > RNH,
ROH > RSH > RNH,
D : ROH <R-SH < R-NH,
ROH < R-SH <R-NH,
Selection rule for the rotational vibrational Raman spectra for a diatomic gaseous molecule is :

QUMW @ TL6ML eLNEVE S MIG 6555 T6T SrLoMG) LoMMILD B 76 556588 T60T [T ITLO60T
Blowmenevuiler C5IHASH &G 1S :

A:AV=+xland AJ=0,+1
AV=+110mMIDAI=0,+ 1
B: AV==+1and AJ =0, + 2 — (Correct Alternative)
AV==110MMINDAI=0,+2
C:AV=x2andAJ=0,%1
AV =2 10MmMIID AJ=0,+ 1
D:AV=+2and AJ=0,+3
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AV =£2 10MMID AT =0, =3

Which element donot showed Auger spectra in electron spectroscopy ?
6TeL& LT IT6dT BIMLDMemnevUlev & BIMLDMENEVEN 6TIHS &60T1LDLD SIHLD ?

A

: Hy — (Correct Alternative)

H,

Schottky defect in a crystal is observed when :
@ UIIEHSH 6L a9 ML & &GenmuUm() LleTeu@sLld Blensvuilev 2 eorgLliLIhH M.

A

unequal number of anions and cations are missing from the lattice

FLOLDMM 6T600T60011856m & UN6L GBHT LDMHMILD TH T UL60T 56T 2600118 CH MemneuUI6L@) L LD
QUDOTH BSS6V

: equal number of cations and anions are missing from the lattice — (Correct Alternative)

FLOLDITEOT 6T600T6001 185608 UI6L GBI LDMHMILD 6THJ 4 Ul6oi1&H 6T ) 6v0f18:CHmemneUUileh @)L LD
QAUOTH (S S6V

: an ion leaves its normal site and occupies an interstitial site

&(H 3| LI60T] 9560T QUG SEHLNMET @ LSH 6V @ L LD GQILIMTIO6 2600118 C8Temal
@emLQeuerflulléy @L LD QLIMIG6

: no ion is missing from its lattice
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LY & 21600118 B8 MemeuUI6V 6THS 62(H 3 UleofluD @)L LD QLIMTS Hlemev &) 6VeVTH([HS 556V

Spinels have the formula [AB,O4] where A can be group.
6N 6D LIGOTELE 60T GUITULILIT(H) [AB,04] @&6L A QETGH G

A

IT A — (Correct Alternative)
ITA

:1ITA

I A

TA

A

1B

IB

Which of the following possess physical property values that are different in different directions ?
LD 5 600TL_6U M MIET 6TemeU GlaUelCauml Hem&gertleu GleuelGeumi @ wimLIuIey LievorL
LOG)LIL| 560168 6 85T600T L9 (ThH &> (& LD 2

A

Liquids

&) [T 6L MBI 56T

. Gases

GUITU| 8 856T

: Crystalline solids — (Correct Alternative)

LILQ & 5)600TLOMKIG6iT

: Amorphous solids

LIQ &6UIQ.aILM M &) 600T LD MG 6iT

An 1onic solid is a poor conductor of electricity because :
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Glevor LD 2 Wleoflwimeotdl (b WleoTEMT SFIGHMH HL5F), 66orevt 16V :

A : The charge on ions is unequally distributed
IweollseTd g 16T Femn Frmm LS TH S [H5S S 6V
B : The charge on ions is small
S| wenfluledr @&emmeurmeot LA6T &6l
C : lons arenot free to move in a solid — (Correct Alternative)
G600T LS H 6V 2 ULI60T1 & 6T 66l 1 HMS @)L LIQLIWITEUTS TN @)(HE 856V
D : Tons donot conduct electricity
Weofl LOOTEMISHMS &L & 31615 606m6V
Essential action for Lasers is :

CovFl &HTIFFMEMeoT (LN&SH W BlHLD6)

A : Absorption
2 (HEhT+&H6V

B : Radiationless transformation
SHTefFFmHM @ LIDMMMLD
C : Stimulated emission — (Correct Alternative)
&evor(b) 21016
D : Spontaneous emission
GeotevflFemns 2 _LolLhe
According to sequence rule, arrange the following in increasing order of priority - CH3, - CH,CHj3, - NH,, - OH.

aflena &y aGuller g LLemLullev LlettalneorelHemm gmins auflensuiley
aufleng il &S - CH;, - CH,CHj, - NH,, - OH.
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A : - CH3 <- CH,CHj3 < -NH, < - OH — (Correct Alternative)
- CH3 <- CH,CH3 <-NH, <- OH
B: -OH<-NH, <-CHj; <-CH,CHjy
- OH <-NH, <- CHj3 <- CH,CHj
C:-NH; <-OH<-CH,;CHjy <-CHj
-NH, <- OH <- CH,CH;3 < - CH;
D: - CH,CH3<-CH3 <-NH, <- OH
- CH,CH;3<-CH3 <-NH; <- OH

The correct order of priority of groups/atoms attached to the asymmetric carbon atom for assigning R/S configuration is

R/S GMIUI(B aupmBIGID QUITHL R ETennwlimm &L lev @)6m 60T HSI6Tem Q& TE&HS) /
9| 6001855 615 & 85 MeoT FIflwimeor (Lpeote)iflemin aurflems

A:Cl>Br>CH;>H
Cl>Br>CH;>H
B : Br> Cl > CHj3 > H — (Correct Alternative)
Br>Cl>CH;>H
C: H>CH;>Br>Cl
H>CH;>Br>Cl
D:CH;>Br>Cl>H
CH;>Br>Cl>H
The isomerism that arises due to restricted rotation about-carbon - carbon double bond is called :

ST — ST @TLemLLl LNeneoorLienll EFFMHE Q& TeooT(h &-L06V @) WVTSHGLITDS
2 _(HeUMGLD WmHMIWILD :
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: Geometrical isomerism — (Correct Alternative)

Il &l LnmmMlulLD

: Optical isomerism

eerflarLpmmI Lomm milwiLD

: Tautomerism

@ WMIG FLoBlemev

: Conformational isomerism

Al QIeITF emnLIL] IDmMMlWILD

The instrument used to measure optical activity.

g6l &LpMHMIG HeoTemln SjemallL LiWieT LD Smell erg 2

A

Polarimeter — (Correct Alternative)

Gumevrfl LI L[

: Refractometer

QU&LITHGLIT LOL L[

: Spectrograph

VLGS GImTH TmL

: Tracer technique

L_Grervy QL& 60118

The most stable conformation of decalin is :
QL& 569 60T LG 6LD [Bl60I6V I TET 2 (HeU emLnLiL] :

A

cis

Fler
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B : trans — (Correct Alternative)
LQ. [T IT60TEN)
C : eclipsed

LD60YM6Y
D : staggered

ST

Number of double bonds present in squalene :
6@ Wmedlentlev 2_aTer @ UL 6oL LilemevorLiL] 8 6rfleoT 6T6vor60011856M5 !

A : Four
1HIT60T(S
B : Five
BH S
C: Six — (Correct Alternative)

250!

D : Seven

JICY

Direct use of acraldehyde is not suitable for the synthesis of quinoline under Skraup synthesis condition. The reason is,
acraldehyde undergoes :

SWIGeormevemenT VST QHMTGSLIL] (Wemmuilev sWMfleE L GUMS aflemeot
151 LI5S 6M 60T & 6T 60TLILG. D& T MeVIg.emamenl GBI UITS LIWeTLM &S @ UIeVTSI. 676l6oTentl6,
&5TTLIgemam(h @6eUelTMTHMS!

A : Decomposition

Flenz el
B : Cyclization
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6UEDGITULI LD TS 6V

C : Polimerization — (Correct Alternative)
LI6VLILQ UIT& 6V
D : Formation of methanol
QD& HEOTITEV 2_(IHEUITSH 6V
Furan reduced to Tetrahydrofuran in the presence of :

618607 (LP6oTenllemevulev LIl Jmedt @(h&&LINMLBSI QL LT emaml Grm LNw,JmermRms! ?

A : Pt/ H2
Pt/H,

B: Cd/Hg
Cd/Hg

C : Pd-PdO — (Correct Alternative)
Pd-PdO

D : Carbon black
&H(IHLIL| SITTLI6OT

The fundamental unit in terpenoids is :
QLiLeormul(h&erflev 2 6Ter 419 LIt B|6V&

A : 1,3-butadiene
1,3-L91u, L L_meoy L_uTeor

B : 2-Methyl-1,3-butadiene — (Correct Alternative)
2-Q05 & 6V-1,3-L9W, L Lmem L_uTeor

C : Allene
916065601
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D : 1,2-butadiene
1,2-L9wy, L L_meoy L_u FeoT

The method used to open the heterocyclic ring in pyridine s :

LN fliqe0flev LI6L euemeTW FHRIHEN FMEsH LiweTUGILD LPemm :

A : Hoffmann Exhaustive Methylation — (Correct Alternative)
AMTLIGLO6IT 6786 aMmenvlg.ed GILD&H 6L gFMHMLD
B : Emde's Degradation
6Tl L6V &6t 5616056V
C : Von Brown's Method
6UITEOT L GIT 60T (LPEm M
D : Williamson's Method
616060 WILD & 60T (LPED M)
Splitting of spectral lines in an external magnetic field is called :

LN 6T 6v S5 FH6v BlMLDMemeLs CamH &6 LilifleusmnL b eflemerrey :

A : Stark effect
VLITHS allemerTey
B : Compton effect
STDLIL 6T edlemere
C : Zeeman effect — (Correct Alternative)

FLneoT elemere
D : Shielding effect

LD6MME S 6V 66066

The molecule which is Raman active and IR - inactive in the following is :
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LD 6V ([HEUETEU M MIET 6THS CLAGVE Fn MI TITLOEIT [BIM LDMeMeVem IS Q& T(H &G, IR
BIMLOTEneVeNUES Q&BTHEHEHMTSH

A : SO,
SO,

B : HCI
HCI

C: N, — (Correct Alternative)
N,

D : Protein

Protein

Which is Hamiltonian operator in
[— h? o2

om dx2 & V{x]}w(thw{x] ?

ELpSaeim_cummleh 616 eumbled GLmeofliLieir Cl&FLeo2

i PR
[ g VI V=g

Ay (x)
v (%)
B:E
E
C:Evy((x)
E vy (x)
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[oeg
2m dx?

2 g2
2m dy2

Two functions fj, f; of the same set of coordinates

f1, £, 25& Q&F Wedl&Hertlev

A [ dT=0
[fi hdT=o0
B: [fhdT=1
[fldT=1
Ci [fhdT=]
[ hdT=1
D:[fpdr=1

jfl' fsz:I

09 4V

+ V(%)

— (Correct Alternative)

is said to be orthogonal.

A TCHMTB&HMeuT6V 6T60TLILIHNSMS! -

— (Correct Alternative)

1s reducible representation.
—60T F(H&HEH UM :

A : T — (Correct Alternative)

r
B: o,
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Ch

Thin layer chromatography is based on :
SmeT BIMLILNflen s 6r560T 19 L6 LU 6L Galemev Q&R M :

A : Volatility
N WIms 6L
B : Solubility
FH6NJH6V
C : Adsorption, Partition — (Correct Alternative)
Holiugliys seungs, Liflellemeor
D : Ion-Exchange
SlweoflL LfllormmLd
In DTA, Endothermic processes are more likely to occur than exothermic process because :

DTA -al6v, 2_6TeUMHIE QeULIL alemTe] Q& Weunemm, Glalllll 2 1Ol Q& WevLnem memnuladl
B SHIOMS H60) LG LIMILD, {5 60T SITF600TLD :

A : Heat is extracted from the sample — (Correct Alternative)

QeuliLLD UG &SNV @ BHS 2 MehsFLiILhSHmsS!
B : Heat is supplied to the samples

QeULILLD US&HFMMEG QENsSSLILIGS M

C : Pressure is increased
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SWSsL 9F&F&EsLLEH DS
D : Pressure is decreased

SWHSD GODEHLULOEDS!
In neutron diffraction, neutrons are scattered by :

BlwLgmet efleflbL] euememallev, BIUL_[FTedTa 6T 85 LD & 600T L6UMMIGT 675 60TT6V G MIH M S! ?

A : Positrons
G iflwedr
B : Orbital electrons
GOMILILIMTENS 6T6VEL_[JITEOT
C : Atomic Nuclei — (Correct Alternative)
S TVE S
D : None of the given options
@ 6eme6l gaiLllevemev
For a bivarient system, the two variables to be specified are :

®(H QUL enLLomml emlnliLilev, 6Th& @) evor(h DM & 6e06IT [HITLD &6ooTd:H 6V 6T(h &S5
Q& meTer Geueoor(h LD ?

A : Temperature and pressure — (Correct Alternative)
QEULILI 366D LOMMILD HWSSHUOLD

B : Temperature and volume
QeULIL |66 LDMMILD LIIHLO60T

C : Pressure and volume
(WS SD LDMHMILD LIHLO6OT

D : Pressure and volatility
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S SHSLD LMHILD 6TeflHl6L el wimg ey
Low temperature CD measurements are useful in :

SMHSE QeILIL CD 6eTHE) 6THMEG 2 LUCWTSLIUGSRMS! ?

A : Configuration

LIM S{6mLDLIL|
B : Configuration and solvation
LM SemLOLIL| LDMMILD &emTLILITG6TMMLD
C : Conformation and solvation — (Correct Alternative)
Qeuerflallg el SiemLIL] LDMMILD &HenFLILITECeTMHMLD
D : Super acid
il @jdleuld
The electronically excited state is produced photochemically known is :

e6rfl Gaudm uillwiev elemeorullev LileoTeoTeomi(Lnemmuilev Hlemraymm Blemeuuiley 2 ([HeUTELD
e TR LIT(H6T :

A : Fluorescence
o LQeormerlysey
B : Phosphorescence
BleoTl 6t &6
C : Luminescence — (Correct Alternative)
FeoTQ 6ot merfl 560
D : Chemiluminescence
Ceu earfljgey

Which one of the following molecules does not obey the 18 - electron rule ?
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18 — 6TeLS LT TedT elGHlem GLDE600TL 6THG eLN6V & S M LT LIM M6 606016V ?

At [Mn(CO)g]*
[Mn(Co)g]"*
B : Fe(CO);
Fe(Co)s
€ [Cr(Coys)*
[Cr(Co)s]*
D : [Mn(CO),Cl,]* — (Correct Alternative)
[Mn(Co),Cly]*
The reaction of acetyl chloride and AICl; with ferrocene gives :

SQUITGITHIIL 60T AFL_6mL 6V GCoTmemT(h LoMmiLd AlCl; ellemeorfluLb QLTS
F e L5 LD aflemeT QUITHET :

A
O COCH3 O COCH3
e
~/ [/
Fe

Fe

SN (SN

@)

— (Correct Alternative)




Q COCH;
Fe
/O
COCH,
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D : FeCl; and Al(COCH3);
FeCl; LOMMILD AI(COCH3)3

Rh,(CO)4Cl, complex has :
Rh,(C0)4Cl, &{60)600T6Y GFJLOLOTEOTS! :

A : Two CO bridging ligands
@ evor(h) CO LIM6V [F60f1& 6T QLM mI6TeTS!
B : Four CO bridging ligands
BTEOTE& CO LIM6V 60186 GILIMD MI6T6TS
C : Two Cl bridging ligands — (Correct Alternative)
@ evor(h) Cl LIM6v FF60f1 86T QLM MI6TETEI
D : Three CO bridging ligands
eLNETMI CO LIM6V FF6uf186iT QlLIM mI6Temas
The coupling constant reaches its maximum for a dihedral angle of :

@ emevorLiL| LDMMI6S) 2 5868 e WD 6Ll Jev @8 mevorld

A :9Qo
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90°
B: 600
60°
C: 180° — (Correct Alternative)
180°
D: o
00
Predict the number of lines in the ESR spectrum of [CF,D]° radical.

[CF,D]° &eofl 2 mil'1L960T E.S.R. Blminmemevuilev &mevor LiLI(HID G&sm(h &s6rfledT 6T6v0T600118560)8 600 LI
&600T LM &

A : 6 lines
6 C&HM(H &H6T
B : 9 lines — (Correct Alternative)
9 B&HM(H &H6T
C: 5 lines
5 G&HM(H &6T
D : 12 lines
12 Gam(h &6t

The value of quadrupole moment of KCl is

KCl €L 6V & G M1 60T (&6UITL_([HGLIMTEY @@uug;@mwﬂafr L0 LIL| 6T60T6OT ?

A : 0.04 mol — (Correct Alternative)
0.04 mol
B : 0.4 mol
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0.4 mol
C: 0.004 mol

0.004 mol
D : 4 mol

4 mol

The hyperfine structure in the ESR spectrum of the methyl radical is .
QEH 6L 2 miLILNeT ESR BIMLOMemnsvuilev 6mamLITen LI 2{6mL0LIL]| 6Tel6eUTmI @) (5 ELD 2

A : Singlet
FImigerL
B : Quartet — (Correct Alternative)
GeUTTLL
C : Doublet
LL|eTL
D : Triplet
L_iflleri
The chemical shift of —CH-—Br isinfthe range of :

=CH-8r N .
—  —6o1 Geudl mafeleir Eenl GIL,

A :2.7-4.1 ppm — (Correct Alternative)
2.7-4.1 ppm

B:2.0-4.0 ppm
2.0 -4.0 ppm

C:3.1-4.1 ppm
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3.1-4.1 ppm
D:4.2-48ppm
4.2 -4.8 ppm

The Curtius rearrangement involves :
SI1IQ U6V @LLmMHoIeleneT @)6ng 2 6TemL SR W :

A : Diazonium halide to Aryl halide
60 LWL GV Iment| LD QM em6uemL 6060 AMEeMEVL M LOMM mIe S

B : Pyrolysis of acylazide to isocyanate — (Correct Alternative)
606NV 3Jem e GlaULILILILMRSS) CFTFWLIGTL. 28 LOMMH M)
C : Aldehyde to Ketone
QLVIgmamenL. HL_GL M6T QL& MM MIGISI
D : Aldehyde to Alcohol
QL6VIQEMRAMENL L6V KM TEVTE LOMTMH MG S
Wittig reagent is :
L1986 STrevof] 6T6oT LIS :

A : Sodamide

GamLmemLn()
B: NaBH2

NaBH,

C : Phosphorous ylide — (Correct Alternative)
Limeruerv wilemev ()

D : CH;Mgl
CH;Mgl




100 1100 The sigmatropic rearrangement of allyl aryl ethers to o - or p - allyl phenols is known as :

I|6VEMBEVE BN TV FFHIGET, FIGIMLGTTLIS @LInmmm ellemer eLneuld SLIs56ST LM MmILD
LIMTTIT 36060606V &LT60TMeL&6T TS LDMMHMLUILMLD 6l6oe6or :

A : Cope rearrangement
G&ITLI @LommMm 6l emeor
B : Benzilic Acid rearrangement
QuUeTHe 8 Ldlev @ LLmmm llemeor
C : Pinacol rearrangement
LN eorssmev @ LLommm 6lemeor
D : Claisen rearrangement — (Correct Alternative)
G emr6TF et @ LLommHm elexeor

101 101" SI system, the unit of cell constant is :

SI MWL 1960 evlnmmleSlen il &Gnl& @G0 6V :

At ml — (Correct Alternative)

1021102 The salt used to form salt bridge is :

9 _LIL| LIM6VLLD 6MmLN&E LiwleoTLI(hLD 2 LIl :




A : KCI — (Correct Alternative)
KCl
B: CuCOs
CuCOs
C: PbCly
PbCl,
D : ZnSOy4
ZnSOy

103 103 Specific conductance is :

BIWLD HL&SH H 6T 6TeTLIS :

A : Cell constant x Measured conductance — (Correct Alternative)
INeTaev Dmledl x gjemedl L LIL(LD &L &SI\ meor
B : Resistance x Cell Potential
Il eoTH6emL x LOl60TE 6V LOl6OTS (LD & & LD
C : Conductance x Resistance
HLSSIH M6 x L0l 60T 60
D : Equivalent to specific Resistance
Bl W6eTE6emL 5@ Lol

104 104 The molar conductance of a strong electrolyte at infinite dilution tends to be a finite value, which is that at

higher concentration.
eTevemeLWIMM BI&H S SHenFFensv 2 LW @ efflwid&sss W6t L@eflullesr Gomeury Lleor
HLSSID Fmeormeors &ML L LGN emeor 2 6L WS TS @) (HSH G HS DG LILITETS
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I eTUG 6 AFSHLLF LTSS Q&ML HenJFeVMTSH @) (hHSCUTS 2 616 LnH LiemLl el
@ H&HGSLD.

A : Above — (Correct Alternative)

2GS LD
B : Below

&enme
C: Zero

&4l
D : Equal

Lo

The electrified interface model successful for the Na* and F~ ions which do not adsorbed at the electrode is :
L 6TH B MK S6T S HUFLILILTEH Na' InHmitd F- gjwleoflssemer Limn) ellems@&eaudlev Geumn
QUMM T L IDQLIMM @ 6mL 2juieot] Limemns mHif] :

A : Helmoltz model
QameulnmLen mH ]
B : Gouy - Chappmann
ST — &mlGLeor LmEH ]
C : Stern model — (Correct Alternative)
eruLjeor LnmHif]
D : Helmoltz - Perin model
QameuLnmLen — QuflernmE ]
The minimum number of a functionality of a monomer of a polymer is :

@ LevLIly CFTLNSEH6L &HmevorLILI(BILD 6(H LIQUN6DT, GHemMIbSLIL & eLN6V & Fn M) 60T




6T600T6001 1 &H60) S 2

A : 1 —(Correct Alternative)
1

N NS VS I \S T NS

1071107 Which of the following is a thermosetting plastic ?

L 63T6 (H 61 60TEU M MIET 678 QQULILISSH TV @) MI@GLD LI6Tmerig.& G LIMH6T S,& LD ?

A : Nylon-6,6
60 [BEVITEOT — 6, 6
B : Bakelite — (Correct Alternative)
CUSHGHEmEVL
C : Polypropylene
Lmedly il eSeor
D: PVC
LimeSlemeuemeorev & Gemmemng(h (PVC)

108 1108 The polymer that obtained thro' Beckmann rearrangement is :

L edTeu(pLd 6TH& LIVLIGF GFFLOD QLTSHGLN6T @LLmmm ellemeruiledr eneuld HenL&Hme ?

A : Nylon 66

60) [H6VITEOT — 66
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B : Nylon 6 — (Correct Alternative)
60) [H6VITEOT 6
C : Polyester
LmedlenvLy
D : Phenolic resins
Lfeormedl 8 Q& 6oTaH 6T
The polymers which have excellent thermal stability and water repellency are :
3B & QeulIL Blenev HeoTeMLOW]LD BT THTLIL| HeoTenLOU| LD 618 MeoorL LIMeJILDIT 6T& 2

A : Bakelites
GLIGHEMEVL &6
B : Silicones — (Correct Alternative)
&1601 & B MeOT S 61T
C : Epoxy resins
FLMEend Q& eors 6t
D : Nylon
60)[H 6V T6OT
Average molecular weight of polymer calculated by :

LevLily CGEFIIG S 6T &FITEf eLnevEdn M eTemL L6oTaU([HLOMMI Seoorsh S LLILIGS M

A o Sample weight
No. of moles in sample

— (Correct Alternative)

GG Hleir sTenL
M =

Gamg&leir GLOTEL&HETICT 6T600T600TI HEMSH
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_ No. of moles of sample

M
Sample weight

GaFILGH ST GLOTEL&HETICT 6TeiuT6utT H6M S

GEFTLOSSHI6 €TenL
C : M = No. of moles of sample x Sample weight
M = G&JL0& H 60T GLOMEL&6rT60T 6T600T6001 186008 X G&F T8 G 60T 6T60)L
D : M = Sample weight x Equivalent weight
M= G&JIEH 60T eTenl X CFFLOSH 60T &FLOMEOT 6T60L

The interpretation of stimulai proceeding from environment and acting upon the individual is called as :

QR SHeoflBUT W& &HMIFELO DLIHSSID ST60oT(h &6V G1F LIV M ELHVLD
aflersas L@ eus :

A : Perception — (Correct Alternative)
L| 6V 60T [T 6]
B : Attention
&6U60TLD
C : Deviation
alleus ey
D : Responses
SI6VMHIGH 6V
Which of the following emphasized that "Every type of Education open to men should also be open to women" ?

FLDG 60T UMMV 6THS (LD "RUQQUTIH 6U6M & ULITEOT &6V U|LD 3,600T5HEHE G
F &S LILMG6US CGUITeTEM GLIGITSHEH& G HMEaELILIL Geustor(h D" 6Teor eUedlu]mIsSH W ?

A : Kothari Education Commission
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CaMsa M6 Hevalls &

: University Grant Commission

LIGL&6M6V8 SL0& LDMeof U8 @D

: Secondary Education Commission — (Correct Alternative)

@ 6L [Bletev Hevalls & (LD

: Primary Education Commission

QLTS 560608 &0

Association theory of learning emphasize the importance connection between
@) 6M600TIHSI HMM6V GI&ITETENS 6T60T LIS LOMMILD
QSTLILUMSSIUH6V (LN&HH UGS SHI6ID QUG M.

A

The laws of learning which govern learning by Trial and Error was suggested by :

Skill and Response
S\M 6T LDMMILD SI6VMHIG 6V

: Stimulus and Response — (Correct Alternative)

SITE00T L6V LD M MILD SI6VMHIFH 6D

: Attitude and Skill

LO6OTL1LITEdT6m L0 LOMMILD G m 6ot

: Achievement and Response

S6ML6)] LDMHMILD SI6VMHISH6V

and .
L5 LI 60)6) & 60) 61T

FHeUMIE-8MHM6V (LMW 2 6TeML&H W MMV G LD &HSS &FlalssHeur

A : Burner

B:

LIT60T [
Hull
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M6V
C : Thorndike — (Correct Alternative)
&TT600T60 L&
D : Skinner
6"V &) 60T 60T [
Which of the following should be as flexible as possible to meet the requirements of varying individual differences
among the students ?

LD T600T6U [T 85 615 & &) 60) LG UL 2_6IT6IT 56011 U6 GoUM MIEMLOSH 606 6THTQSTETEHLD QILITIHL(H
LY 6dT6u (H 6L 6TEU M MIGT 6T& QS LD6) &S 60T60 LD UL L_60T @)(H& 8 Galevor(hLD ?

A : Syllabus
LUTLSSIL L LD
B : Library
BTeL&HLD
C : Curriculum — (Correct Alternative)
HOVSHILL LD
D : School enviornment
LieTerfl& @ Lp6ev
In the following types of reasoning which one is useful to us for formulate generalized principles and conclusion on the
basis of certain facts and specific examples by :

Q@H F6V 2_600TeMLN & 6T LDMHMILD 6THSHSIHEHTL(H&6rfler g LiLemLuilev BT QuMsINE)
G ITLUMH&HEM6T 2_(HeUMTSHGHUSMHEGSGD 6 &HMeooTLISMEGLD HLOG&H600TL H7&H8 3 mle|serfley
618l BLN& G LIWISDI6TENS TS 2_6ITeTS ?

A : Categorical
GBI (L& LOIT6oT




117

118

117

118

B : Deductive
DT\ & 556V
C : Conditional
SLGUUmL(®
D : Inductive — (Correct Alternative)
S16voT (h) &6V
Who is the pioneer of humanistic psychology ?
Lneoflg G 2 _emeluledledr (LnedTGeoTITLY. 6T60TE S(HSLILI(H LIS WITT ?

A : Bandura
LieooT (BT T
B : Julian Rotter
o0© 60l W6 CUmLL
C : Michael Ashton
MLN&HCH 6V 61 L_60T
D : Maslow — (Correct Alternative)

LOmeruGevIT

Conceptual intelligence means :
&H(HS5S 2 (HEUTE: S [Hl60oTe00T6Y 6TEOTLIS :

A : Ability to deal with people

NG 8 EHL60T QGTLIL| Q& TETEHLD & meor
B : Ability to deal with ideas — (Correct Alternative)

GUITFeMEOTEHET / (&S5 8 EHL60T QGMTLIL| Q&TeTEHLD & medr
C : Ability to deal with things
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QUITIBL&EBLET QGMTLIL| Q& TeTEHLD & medr
D : Ability to deal with Animals

6L T OTMHIHEH LT QS TLITL Q& TeTEHLD H)meoT
Good Colleges were given autonomous status in order to promote

FMHE BTG EHE G &6TeTTL & H &ML QUPMRIGLILIL L .

A : Number of Colleges
&6V 8611607 6T600T6001 186008 6M WL H&HLILMNSSH
B : Educational Opportunities
&H6evall QUTUILIL|85@EH & 5T
C : Innovations and experimentation — (Correct Alternative)
L|SI60L0&6T LOMMILD QL UI6|&HEHESHTEH
D : Freedom of teachers
Fflursefler &5b65 75T DTS
The Objective of National Educational Policy is :
CxHH W Heval Q& meTen s uiller &Nl &ECaHITeT :

A : To achieve national integration and greater cultural and economic development
GHF W (HEMLOLIML 60 6MLUGILD LieooT LM LDMHMID QUITIHETTSTISH 60 G LM
S| AIGILD

B : Removal of disparities and to equalise educational opportunities — (Correct Alternative)
JMHMESHTLDE|HEM6T &606Talg InMMID &Hevallulley &Fin eumuiliL] erflliLig

C : Promotion of Emotional and National Integration
LT EUWREFS LDMHMID GHF U 6(HEMLDLILITL 60 eU6TITLILIS!

D : None of the given options




@ emeal gaiLllevemev

211121 pace - Setting Schools are meant for

'GLI6N — Q&FL_LY.MBI' (Pace Setting) LIGT6N 56T @ 6UT&HEHEE 2 (HEUTEHSHLILIL L S

A : talented children — (Correct Alternative)

S menin MBS &LLHE0 S 6l
B : slow learners
QLD GI6UME LIUII6YILD LOTE00TEM [T 56T
C : physical challenged children
LmH M Hmeormerflgs 6
D : visually challenged children
LIMTFen el UMM & LOHE0 S E 61T
22 22 Operation Blackboard Programme was started in the year :
QEFWELLITL(R) &HLOLIEVEN S 6T60rM HIL_L LD QG TLHBISLILIL L 3,600T(H) :

A : 1987 — (Correct Alternative)
1987
B: 1988
1988
C: 1990
1990
D: 1994
1994

123 123 The target age group of National Literacy Mission is :

CHAW 6T(W&55M6)] QUIGSLID B 6V&HETSH GI&MevoTL eSS & Weller :
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A:15-25
15-25
B:15-30
15-30
C: 15 -35— (Correct Alternative)
15-35
D:15-40
15-40

Non Formal Education Programme was created particularly for :
(WEMETTT HVSHIL LD (NFHHUILDITS 2 (HeUTEHSLILILL S :

A : Rural Children

STTLILM GLLHNS S EHEHTSH
B : Urban Children

B&FTLULM GLOH6NS S 65518
C : Working Children — (Correct Alternative)

Lieoof 1 fluLD &L0H60VS & E1H & & T
D : Disabled Children
LOTH OIS MEIT & LPHN S EH&HSH TS
Financial assistance of Operation Blackboard was provided by :

SHLOLeMS B LEH DS B1F) 256 aulpBISHug :

A : Central Government — (Correct Alternative)

LSS T8

B : State Government




LOMHBl6V 3 J&
C: UNO

UNO
D : World Bank

2 6V5 QUGG

126|126 The concept now used in the context of intra-OECD competition for the best brains is :

F\MHE M6 FT eLNEM6TE S ITeoT OECD GLIML I & CH 6 &6flev HSMALIMWDS
LIweT LU &S LILI(LD & (HESH) U6V 2,GLD.

A : Competency Development
F 6T eUeTIES

B : Mental Development
LD6OT QUETIE &

C : Brain Drain — (Correct Alternative)
eLnem et G Feval(h &6y

D : Intellectual Development

SINYEFTT euaTI&ER

127127 The apparatus used to determine the span of attention is :

&H6U60T aiF 6 & G 6v0r MU LILIETLI(HILD &FT&HEoTLD :

A : Periscope
Quflev@asImLl
B : Telescope

QL6VENVGB&HITLI
C : Epidioscope
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6T 60 LW merv G & ImL

D : Tachistoscope — (Correct Alternative)
LTEFICLMenB&HITL

The basic activities of reading, writing and speaking of a person depends on

& L6011 56071607 DL LILIED L& Q&FUIELLITHE6TITET 6UITH & &6V, 6T(LDS&IH60 LDMHMILD GLIG &6V
G Wemel QUTMIS S MG OTMSI.

A : Cognitive skills
FHE 5560 H MeoTa6T
B : Life skills
aUmLpellul6L &) meoTas 6T
C : Motor skills — (Correct Alternative)
2 LeSW&EsE Hmeorsser
D : Individual differences
et WimeT Geumimm &6

According to which one of the following learning theories, punishment for shaping the desirable behaviour should be
avoided ?
ANGLOUSHES HL GG GRS SI6USM 5T &600TL_6060T QULOMHIGIMS Sl T&H8
Geuevor(hLD eTedTm) LIl 6oTou(BLD SMHMEL &ML LIT(H &6 6Th&H 8 SMmev GamLuUm(h)
660l DS SIF TSI 2
A : Theory of classical conditioning
A5&H BlemevwWImISsHE &mHmev CamLLm@)
B : Theory of operant conditioning — (Correct Alternative)

QEWeLLT(H 8655 BlemevWMIGEHE: MMV GaHITLLIM(H)
C : Insight learning theory




o2 LsMLS aulfls ssMmmev GamLum@)
D : Field theory of learning
LI6V&&HMMEV G&HIMTLLIMH

1301130 ntelligence is the ability

ml6v0T600T 1 6)] M 60T 6TEOTLIG .. ... .. :

A : to count problems
L9 & & 60)60T560)61T 6T600T 60D 61 S5l

B : to solve problems — (Correct Alternative)
LNy&oemnersmeneT STLILIS

C : to run fast

CausLnms (heusl
D : to walk fast

Geus DS BLLILIGI

31131 ntelligence tests are based on the work of a French Psychologist

mlevoreoor M6 G576 &6T TS LITEehd 2 emeluleumerTy 85@55]858561ﬂ6‘6|’ g LibemLudlev
BHEOLGLMFMS! ?

A : Alfred Binet — (Correct Alternative)
2LVl Neorl

B : Jung
S OMR

C : Erikson
eTf18 & 60T

D : Cattell




G&HLL6v
1321132 'When were Cattell's "Culture Fair Scales" published ?

6TH S ,600T(H C&HL_LedledT "&Heva T GUIT 6nB&eV6eN" L& 581D Qeuerflull Ll L gl ?

A 1 1890
1890
B: 1910
1910
C: 1920
1920
D : 1930 — (Correct Alternative)
1930

1331133 'What is the age of Early Adulthood ?
(LP6OT (PH T LIH6Y 6UUISI 6TEOT60T 2

A:13-18
13-18
B:23-27
23-27
C: 19 - 23 — (Correct Alternative)
19-23
D:27-31
27-31

134|134 Who says "Social Change Involves Five types of Changes" ?

"FeLNG LOMMHMLD 5 616085 WLIT60T LOMMHMMIGHE06T 2 6TemL &G W SI" — 676018 FaMIULIGUT :




135

136

135

136

A : Kingslay Dawis
GmIeuGov GLallL
B : Johnson — (Correct Alternative)
9 [T60T & 60T
C : Wills Griffin
elleveru SiflLiL 6ot
D : Udai Pareek
o Ul LUFs
Enrichment is one of the educational provisions for the children.

QEMleyl (H5e6v, GLOHEN S5 EHE G 2|65 EG LD @ 6168 WITeT Hevall&
QFWGLLIMLIMGLD.

A : Retarded
QUETIESH Geormlwl
B : Normal
Fongif]
C : Gifted — (Correct Alternative)
155 &) medr
D : Disabled
&enmUIMT(h6m L
The first Indian Satellite built exclusively for serving the educational sector is .
HevallS SIMMEHTHC 2 (HeuTsSLILL L @BHEH W TeleT (p&6eV QFWMHenss CosITeT
S L0.

A : INSAT
INSAT
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B : EDUSAT — (Correct Alternative)
EDUSAT

C: SITE
SITE

D : APPLE
APPLE

is a mixture of online and face to face learning.

@ emevorweuldl LnmmID CHF(LNS H6eVHSI & MM edleT Ful () LGS LD.

A : Ubiquitous learning
TLIGLIMEILD &MMme6V
B : Mobile learning
M&HCUST auldl MMV
C : Electronic learning
LSl 6OTERTL_85 &M M6V
D : Blended learning — (Correct Alternative)
&6VHG! &MV

communication is very effective in influencing attitudes and behaviour of an individual.

5601 1L0 6011 55601 160T LO6OTLILIM60TEmLD LOMMILD HL-SH6M S F M 6T QFWeumMMmeVLSH &S TeUSM S

SlemeoorLifleu s QsTLILY :

A : Non-verbal communication
GMIFTTT QSTLIL
B : Intrapersonal communication

& 60T (& 6TG6IT 2_6T6T Q&GTLITL




C : Interpersonal communication — (Correct Alternative)
(HEU[HSHGLD LDMMEUTEHGLD @60 GUIWITET Q&ML L]
D : Mass communication
LT & Q&HTLIL

139|139 One of the following is the innovative instructional software for classroom teaching :

G LD 5 600TL_6UMMIET 6TS UG LILIemM &ML 556V & T6T L|S1600WLITE0T Ml & TT
QLOGOTQLITH6IT ?

A : e-book
e-book
B: CAI
CAI
C : PowerPoint Presentation — (Correct Alternative)
PowerPoint Presentation
D : e-journals
e-journals

140|140 Education is to be concurrent list - suggested by :

SHevallenl 0SS W LI 196560 GFTLILISME 24,C6VTEF6M60T aULNBIG WS :

A : Kothari Commission
Can5 s Ml &Lileqeor

B : Swaran Sing Commission — (Correct Alternative)
eveUTeTR M &Lol6 60T

C : Mandal Commission
LN600T L6V &L 619 60T

D : Ramamoorthi Committee




ITENTEHS Sl 1q
During sangam age sea traders are known by the name
FHIS STV 6V GlLIHHISL_6V 61600115 60T 6T6OTMI 60L& S LI LU

141 141

A : Maasathuvan
LOITE TS S16) T60T
B : Maanaigan — (Correct Alternative)
LOIT B IT LI 8 60T
C : Umanar
o _LN6OOTY
D : Chattu
M58l
During the first world war which American President introduced the 14 points ?

P&V 2 s LIGLIMIHleT LTS LIS 6TMeN @ g CHTLUTLmL QealeflwilL 9Qwifl&eas
SIS SH6O6VEUT WITIT ?

142 142

A : Woodroe Wilson — (Correct Alternative)
o LGy alleuser
B : Theodre Roosevelt
FICWITLIJ eHeN G 6U6VL
C : Thomas Jefterson
SN Q&LITE 60T
D : George Washington
SOITITEY 6UTE ML 60T

145 1183 The height of the Gangai Konda Cholapuram temple is




144

144

HHIN&HE Q&Meoor CF ML TS G melledledr o Wy :

A : 65 meter
65 LOL_L[J
B : 125 meter
125 0L LT
C: 216 meter
216 O LIJ
D : 55 meter — (Correct Alternative)
55 L L
Statement-I : Bhara mahal Plateau is a part of the Mysore Plateau situated in the North Western Part of Tamil Nadu.

Statement-II : This Plateau height ranges from 350 to 710 meters. Dharamapuri and Krishnagiri districts are located in
this region.

UMSGBWILD-I : SALDBITL 19607 UL CLMES LGS W60 emDBHS) ([(HEGLD LITTLQMTEV

LS wimenrsl emn@s [ LT L Lol ugl6oT 6p(h L& S WM& LD.

6UMS S WILD-II : @) H60T 2 WD SHIOMT 350 ST (&6 710 L LT euemy SmeorLILGIWD. @B
LFL18lu9eb syl Lnmmih &) (Heq.eoor S| IDMeUL L MBIS6T 2|6mL0MHSI6TemS.

A : Statement [ and II are right — (Correct Alternative)
QUTSSHIWLD - I Lnmmid IT &iflulmeoral
B : Statement I and II are wrong
QUTSSHIWLD - I LDMHMmILD 1T &6UM TS
C : Statement I is wrong, Statement II is right
QUMSHHWILD - I HauMMeTsl aUmsSHIWLD I Fiflwmerg)
D : Statement I is right, Statement II is wrong

QUTESHIWLD - I Fiflulmersl eumsSH WD 11 &6UmTeTs




145 1145 'The Book "De Magnete" (The Magnet) was published by
"G GLN&6oTemLL_" eTenILD HITen6ev QeuefluillLeur

A : William Gilbert — (Correct Alternative)
aflevedlwilh BevLiyL
B : Orstead
RTEVALL
C : Biot Savart
LWL &meuyL
D : Maxwell
GO &G 66

146 1146 The term "googly" involved in the game :

6THS eNlemeTWITL.Lg6V "googly" 6T60TmM Q& MeL LT LR SSLILOQS mS! 2

A : Hockey
aMmTEHH
B : Polo
GumGeuIT
C : Cricket — (Correct Alternative)
CA:Ar: I
D : Golf
G&H MoV LI

47 |47 All districts of Tamil Nadu except these districts were bifurcated at different points of time :

@bhS MalL L BiGemeTs e SLOILPHTLIG6V LDMM LML L HBIS6T LiIsuEGeum
&MV L LmIS6T60 LNfl&&HemnnsaLILL L 6oT.
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A : Chennai, Nilgiris and Kanyakumari — (Correct Alternative)
Q& eTemenT, [HeV Il LDMMILD & 6dT60f WM& O]
B : Chennai, Kancheepuram and Nilgiris
QF6Tem 60T, HMEHFILTLD LnMmMILD Hev &K
C : Nilgiris, Dindigul and Coimbatore
Bev&fl, Hevor(M 60 LoMMILD GHTWILDLIS ST
D : Chennai, Vellore and Kanyakumari
Q & 6oTem 60T, GEUSVITT LD MHMILD & 607601 1UME L]
For the mass production of human insulin synthetically, one of the following organisms is used.
LD 60T & @) 6oTa60lement 2H& 2jemalle 2 MLISH G FUlaESMEG LleTauLd 6Thg 2 ullif]
LWweTU®MSSLILOS mS ?

A : E. coli — (Correct Alternative)
T G&ITE0I6V

B : Rhizobium
emJCFmLlwLD

C : Lactobacillus

VMHCLITCLF 6L6VEN

D : Streptococcus
VOLTLIGCLMTHTEFHN

The half life period of insulin in the plasma is :
LNeTmerunmaflev @) 6ora65160f160T 2j6m T QUL STeVLD :

A : 10 minutes

10 P& 6T
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B : 8 minutes

8 P& 6T

C : 6 minutes — (Correct Alternative)

6 BILILMB1g 6T

D : 4 minutes

4 pIOlL_mB18 61T

Which one of the following is wrongly matched :

District
(a) Dindigul
|b) Perambalur
(c) FErode
(d) Namakkal

Hills
Marunthuvazhmalai
Pachaimalai
Chenni hills

Kolli hills

LY edTeu(HeussTauM M6V 6T& S56UMmTa G\LIMTIHH S WL 6iTems! ?

LOIT6M L L5185 6T
(a) B evoT(hl & & 60
(b] GILITLDLISIITTY
(c) FRIm(h

(d) BITD&SHED

LD 6306V 85617
LO(HH S 6UITLD LDEBED
LIF60& LD 6m6Y

Gl & eorenf| LDemIGL

G &meuedl D6t 6L

A : (a) — (Correct Alternative)

(a)
B: (b)
(b)
C: (¢
(c)




D:(d)
(d)




